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The %reindeer's Christmaths Quiz

Once Cupid had finished hanging up all his mistletoe and lighting a few candles,
he began to sort out the presents he had bought for his favourite reindeers.
Most of them were for Vixen. He found her particularly foxy.

There were 20 presents stacked up into 4 TANGRAM 4

piles. The first pile had 3 less than the second One of Cupid’s candles
pile. The second pile had two more than the
third pile. The fourth pile had twice as many as
the second pile.

How many presents were in each pile?
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